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| 'Whether management is a science or an arl is one of the issues usually confronting
management scholars and practitioners. In your opinion, is managing a science or

anarl? (Please answer the queslion either in Cnglish or in Chinese.) (20%)

2. Today we are living in a global village. Many multinational corporalions establish
themselves successfully in differenl countries.

(1) What are likely to be the differences between the operation of a domestic company
and that of a multinational corporation? (10%)

(2) What advantages do multinalional corporations have? Whal challenges do they

nieel? (20%)
(Please answer the questions either in English or in Chinese.)
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